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FACULTY OF SOCIAL SCIENCES 
B.A., V-Semester (Regular/Backlog) Examination Nov./Dec.,-2019 

ECONOMICS-5 
 Development Economics 

 

Time: 3 Hours Max. Marks: 80 
Note: Answer any FIVE questions in Part-A and all questions in Part-B.  
: A B . 

Part-A (Short Answer Questions)                                 5x4=20M 

    
1. Human Development Index. 
  

2. Economic growth and development. 
  
3. Population explosion  
  

4. Technological dualism 
  
5. Concept of surplus value  
  

6. Assumptions of Ricardo’s theory of economic development 
  
7. Low level equilibrium trap 
  

8. Vicious circle of poverty  
  
 

 

Part-B (Essay Answer Questions)                              4x15=60M 


9. a)    Explain the construction of physical quality of life index. 

 
OR  

         b)    Discuss critically the role of state in economics development. 
     
 
 

 

10. a)    Explain the factors affecting economic development. 
      

OR  
     b)   Bring out the relationship between population growth and economic development.  


 
 

11. a)    Explain the importance of division of labour in Adam Smith’s theory of economic development. 
                

OR 
         b)   Discuss Schumpeter’s theory of economic development. 
            

   

12. a)    Explain Arthur Lewis balanced growth model. 
    

           OR  
       b)    Explain Hirschman’s unbalanced growth strategy. 

        

       


